N e o JE s A ks L e — B ® #F 5190010222 -12/12 nIRESAI3A FAT
TRSTAER KRR KB OB N A E 3R E A ¥ M OKE B RE 2245
i 4 s AN SN PPV SRV SV STV NER B e S 2 e " S & T - i
BT -t B Ko S ol sk h A H wWENEAEMETRERXKEE 1-13—-2 Hif045-929-0033
sUBHERE ¢ K By 4 — AR M EAES-5-4 WAt 042-792-4474
K EH B AR MY HE R BFoT R
g e A | wagee | 18R [ 5AL1SA | 6A5H | THA3H | 8ATH | 9A4R | 10A2R | LLALLA [ 12A4H | 1A8H | 2H5A | 3A4H | o o | & T
el R TR AKEEIEE | B 12:19 10:31 10:22 10:41 10:33 10:35 10:44 10:52 10:38 11:03 10:19 10:44 RRME | /ME | FEE
1| ARSHIE 0 100LAF | f&/ml 0o 0 0 0 0 0 0 0 0 0 0 0 0 0 0
2 | RIBE 55 KR SFUR T & | oomich) | Rt (Betk) | Aottt (BaA) | TSRt () | Rt (k) | ARt it () | e tt) () | bt (BEE) | AR Babhs CR) | A (Bat) | At (B | AR b (Bt | AR (Rete) | AR (BRE) | At (Rtee) | A B b (Rt
3 [ANIWAR DAY 0.0003 0.003LAF mg/] - = - 0.0003 5K - . = - - - - |0.0003&1 | 0.0003i5| 0.0003 A
4 IKREROEOE £ 0.00005 | 0.0005LATF | me/t| ~ = 0.00005:4{i = = | e | - ] 0.000054%1# | 0.000051# | 0.000054
5 |V B OEDAL G 0.001 0.0LLATF mg/ e 0.00 A - = - — - = - 0.001 24l | 0.001 | 0.001 Kl
6 |f M e LG ~0.001 0.0180TF [me/t| - = - | 0.001Km| - = = - 0.001 23 | 0.00 1 K% | 0.001 A
7 kR K OEDEY 0.001 0.0LLAT ‘mg/l - 0.001 = - = - = - 0.001 0.001 0.001
8 [/l bAE 0.005 ~ 0.05LAF | mg/l = = = 0.005:A: 1 = | = ] = R = 0.005A41i | 0.00541i | 0.005AKi
9 |MEAHAELIREESR - ~0.004 0.04LL°F mg/| - 0.004K7 | = = = = = | = — | 0.004ii | 0.004 74 | 0.004 A4
10 | V7 AbMA A R OEAL YT~ 0.001 0.01LAF mg/1 | 0.001 K5 = 0.001 4 = = 0.00 LA 0.001 A it - 0.001Ai | 0.00 1A | 0.001 Al
11 |TEEETEZE 3R K OV hE IR RE 2 3 0.02 10LLT me/1 = - - | 0.29 - - - - - - - - 0.29 0.29 0.29
12 |79 K O EDILEH 0.05 0.8LLF mg/1 - 0.05A 1 - - - = 0.05A7 | 0.054%H | 0.05A4
13 [il5 K O D{b-A1 N 002 | LOLLF mg/1 = = = 0.02 A i - = = - - - - 0.02K7w | 0.024% | 0.02AK7#
14 |tk R - 0.0002 0.002LLF mg/l| - ~[0.0002 - - - - = = 0.000241% | 0.00024%15 | 0.0002.A i
15 |1.4-"A%% | 0.005 0.0524°F meg/l| - | - - 0.005A = = = = = ~ - 0.0055K 7 | 0.0055& 7 | 0.005:
16 [v2-1,2-vpunxfvy RO a-1,2-v7anrfy [ 0.0002 0.04LAF mg/1 0.00024T5 | = = — 0.00024<1# ) 0000251 0.0002 3
17 [V un gy | 0.0002 0.02L4F mg/1 = | = - 0.00021 = = = = = - - - 0.0002:44| 0.00025K 1| 0.00024
18 [FhmncfLy 0.0002 0.01LAF mg/1 0.0002A7 - | | = - - 0.00025E1i [ 0.0002 17 0.0002 4 i
19 [MyoozFLy 0.0002 0.01LAF mg/| - - | = 0.0002 = = = = = = = - 0.000247#| 0.00025R 1| 0.00024
20 [N 0.0002 0.01L4F mg/ - 0.0002 A1 - - - 0.00025K1ii| 0.00024755] 0.00024 8
2l | SR - 0.06 0.6L4F me/1 | 0.06A - - 0.06F% | - = 0.064 i - = 0.0647 - = 0.06R7i | 0.0674# | 0.06:1ii
22 |/uufElg - 0.002 0.02LAF mg/1 | 0.002: ¥ = 0.00241i5 0.002is | 0.0024: i - | 0.0022K75 | 0.0024i | 0.0024 i
23 [Jmmbvhs | o0.001 0.06LAF mg/] | 0.001 ¥ = = 0.00LKRfG| - - | 0004 | - | - 0.002 | - - | 0.004 [0.001A%m| 0.002
24 |V raupERs - | o0.003 0.03LLF mg/1 | 0.003A 1 = = 0.003 1 - |0.003AMh[ - - 0.003A i —~ | 0.0037%5 | 0.00374 | 0.003A i
25 [V'7'mesmmryy | 0.001 0.1LAF mg/l | 0.001 = = 0.001 = —~ | 0003 | - e LT S = 0.003 | 0.001%| 0.002
26 |R.ZEME 0.001 0.01LAF mg/] | 0.001 - - 0.00 1AM | - | 0.0014%7| ]I 0.00 LA i = = 0.001 i | 0.00 1A | 0.001 il
27 | sy - 0.001 0.1LLF mg/l [ 0.003 - - 0.003 - - 0.010 - - 0.002 = - 0.010 0.002 0.005
28 [M7uu e - 0.003 0.03LLF me/1 | 0.003 7 - = 0.003A7m | - 0.003A ¥ - 0.003AK ¥ - - 0.00321i% | 0.0035 | 0.003 K1
29 |7 BTy auigy 0.001 0.03LLF mg/l | 0.001 = = 0.001 | - = 0.004 = - 0.00 1 At - = 0.004 | 0.00L#¥W| 0.002
30 [7eEbAA ~0.001 0.09LAF mg/] | 0.001 A = 0.00 1A 0.00 LA i 0.001 K| = 0.001541ifi | 0.0015%1# | 0.001 KN
31 |BALT VTR 0.008 0.08LL°F mg/1 | 0.008K# - - 0.008A i = ~ — | 0.0087 = = 0.008A i = = 0.008¥4 | 0.0083:1 | 0.008&: i
32 |l R O DAY - 0.01 LOLLTF mg/1 B - =~ 0.01A = - i - 0.01A¥H | 0.01K7 | 0.01FK
3BTV AR E DAY 0.02 0.2LLF mg/) | = 0.02K%E | - — = — = — — = 0.02:K¥ | 0.027% | 0.02K7
34 | R O DAY ~ 003 | 03LF | mg = = — 0.035R 7 = > = - - 0.03AJHi [ 0.03%¥ | 0.03K 1
35 R O L& 0.01 LOLLF meg/1| - | - 0.01R%G | — - - = — - - 0.0144 | 0.01W | 0.01%5
36 |FMIAK DL G 0.1 |  200LLF mg/] — = — 38 | = - - 3.8 3.8 3.8
37 | v R DG 0.005 | 0.05LAF | mg/l - . = 0.005KM [~ = = = = | = - 0.0054i | 0.0057 4 | 0.005 4 {ii
38 (M kA4 o 0.2 | 200LL°F mg/] 1.5 15 | 2 2.0 1.7 1.6 1.6 2.5 2.3 2.2 2.3 2.3 2.5 1.5 2.0
39 [Ivih, <) Ry LS (FEE) 10 3004 F mg/1 - - = 37 ~ - = - - = = = 37 3l 37
40 [ZRFIERY |20 | 500LLTF | mg/l - - - 50 = — - = - | 50 | 50 50
41 [BRAAY ST PR 0.02 0.2LLF mg/1 - - 0.024 i I - = | & 2, = = = 0.0244 | 0.02% | 0.024%
42 |V'efry | 0.000001 0.00001LAF | mg/1| - —  [0.00000151#50.000001 5] 0.000001 ¥ 0.00000 1 e - = | = 0.000001 5% 0.000001 K| 0.000001 A Hi
43 2= SFMAS VA 0.000001 0.00001LLT | me/l = 0.00000 1 7<i5| 0.000001 [ 0.00000 1 K #5{ 0.00000 1A ] - - = 0.000001 27 0.000001 13| 0.00000 1 A1
44 |FEA A i e Al 0.002 |  0.02LATF me/] - - | 0.0025:¥4 = = = - = - - | 0.0024 | 0.0025%7 | 0.002A 7
46 |72/ )VEE - 0.0005 0.005LL°F me/1 = == 0.0005A i . = - B = = = 0.000541ii) 0.0005 K15 0.0005 341
46 | i (A BIRFE(TOO)D &) 0.2 3LAF mg/1 0.4 0.4 0.3 0.3 0.4 0.4 0.4 0.2 0.3 02K | 0.2%%5 | 0.2K7 0.4 | 0.2K¥m 0.3
47 |pH1E == 5.800 F8.6LIF [ - () 7.2 7.3 7.3 7.3 7.4 74 | 7.2 7.2 72 | 7.2 7.2 7.4 (=) 7.3
48 |5k BTl RERL | BERL [ BFEARL | BEA2L | BERL | 2ERL | BERL | EFE2L | AERL | BERL | BERL | BRElL - = =
49 | H& 0= RETRWIE | - | BERL | BERL [ AF4RL | BFRL [ BEL | 2L | BERL | BE2L | B2 | 2F72L | Bkl | BELL = ~
50 [faflE | 05 5LLF | 05K | 05#M | 1.2 | 05%5 | 0.6 0.8 0.7 0.6 0.5K7M | 0.5 | 0.540 | 0.5 1.2 0.5 0.6
51 |EE 0.1 2LLTF B | 01K | 01K 0.1 0.L4RYM | O.1AKNM | 0.1 | O0.1RW | O.1AM | 01K | 0.15KH | 01K | 0.1AM 0.1 0. 1K1 0.1
e HE Py HE A HWE PNy HWE ke ik k= A e = =
VPRETR R HSR =___ = mg/1 0.3 0.4 0.4 0.2 0.2 0.3 0.1 0.5 0.4 0.5 0.5 0.6 0.6 0.1 0.4
i - ° 15.6 18.5 21.0 24.7 29.2 26.0 26.0 | 13.6 8.5 6.3 6.8 12.2 29.2 6.3 | 174
IR, - - C 10.7 13.2 14.5 17.2 19.0 19.8 24.2 17.8 11.5 6.0 6.2 | 7.4 24.2 6.0 14.0
BRI i I £ 20 g fEAL i i fEAL 5l AR 23, - - -

PRE TR ARH IR O T OREICESE

1% :

BT BRENEDD T KL

B A

E A AR e 261 5




